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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Q=T 3397 :
i) @ IeT I |
(i) I GEI1-5 7% Td% Uk HF & & | 57 Jo1 & I/ II9% 20 931 &

314% T & eT |

(iii) 397 &I 6 - 10 TF 9% qI 3% & & | 57 I94 & I JoI% 40 Y5l &
3fe 781 &4 TeY |

(iv) 397 &7 11 - 16 7% J4% &R 37H] & 8 | 37 Jo41 & I/ Ie9% 100 V5] G
314% T &1 MY |

(v) ¥ H&IT 17 - 21 TF J9% qier HHl & & | 57 991 & IH I9% 150 Jsg]
& 37fe 787 817 @y |

(vi) 97 G&IT 21 FEE | STENRGT F97 & | 393 IR 3794 FR-GIeaar 7
ferf&T |

(vii) I97 &I 22 - 27 T 9% D: hl & & | 57 1 & I/ 9% 150 Jeq] &
3% T &7 T |

General Instructions :
(i) All questions are compulsory.

(it)  Questions number 1-5 are of 1 mark each. The answers to these
questions should not exceed 20 words each.

(iti)) Questions number 6— 10 are of 2 marks each. The answers to these
questions should not exceed 40 words each.

(iv)  Questions number 11- 16 are of 4 marks each. The answers to these
questions should not exceed 100 words each.

(v) Questions number 17 -21 are of 5 marks each. The answers to these
questions should not exceed 150 words each.

(vi)  Question number 21 is a map-based question. Write its answers in your
answer-book.

(vii) Questions number 22 - 27 are of 6 marks each. The answers to these
questions should not exceed 150 words each.

1. ‘e SRdY o foreft wep dftomm i I9TR T | 1
Highlight any one consequence of ‘Shock Therapy’.
2.  HEHidh &F H IEE 1 37 T HINT | 1

Explain hegemony as a soft power.
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3. $® AN UHl FI diad 8 foh 9T 370 1 THTS L AT ATMET 2 1
Why do some people feel that Article 370 should be revoked ?

4, Y Hg d% HEUd & (b SMUTAehIA hl WU 4 WA H Vel o HETcHD
foraor &1 SueIR foham 3 2 1

How far do you agree that the proclamation of emergency weakened the
federal distribution of power in India ?

5.  “IdTg WIUGTHehdT o THM GaTh &l 3 |7 =t 38Uy | 1
Justify that “Regionalism is not as dangerous as Communalism”.

6. T ovieH & d9d HEwyul g 61 9g=H HIT | 2
Identify the most important outcome of the Rio Summit.

7.  Wifoad @9 o foeed ¥ g Usa SWieh HH A= g7 ? 2
How was the U.S. benefited by the Soviet disintegration ?

8.  Jvdiehtul % fohedl g1 <Yl T Ieoi@ T | 2x1=2

Mention any two benefits of globalisation.

9. g & forg fafmear 3 YR & Tdaar 3T<leH & G, 39 Ueh foaiicH
TSe= ST ? 2

Which characteristics made the Congress an ideological coalition during
the freedom movement of India ?

10. IR & 37T Tra-g S o oIt I3 gf 39T sy | 2x1=2
Suggest any two measures to have good relations with Pakistan.
11. YRA 3R = o o9 Tra-di § 19 o BRI 1 Jeahd hig | 4

Evaluate the causes for the strained relations between India and China.

12. i@ sif i oo § dicamsd @3 & U 9ia @R gy v TS Wit o
guiq i | 4

Describe the strategy adopted by the Government of India to promote the
Green Revolution.

13.  TUQ ST ITaleH hi foheal Gl J&A Tl 1 Ioci@ I | 2x2=4

State any two main demands of the Narmada Bachao Aandolan.
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14. UTOUTEh AT % &9 U GA o W shi ST HifT | 4
Explain the importance of cooperation in the field of ‘Traditional
Security’.

15. fasafaat =1 =9 oied & fow foaw @ ach giifeafaat it =men Hifve |
frearelt sronfeRIt <t TgrIar o ® WRA i fHeRT i IR HIT | 2+2=4

Explain the circumstances that forced the Tibetans to leave China.
Highlight India’s role in helping the Tibetan refugees.

16. TSHYT THR Teh-Geild ThRI hl o1 H fohd TR ATeh Alhaitieh fag i
3°? 4
In what way do the coalition governments prove to be more democratic
than the one-party governments ?

17. = fqu Tu s w1 eHgds eE Hifve i ffaRad s % 3w

s -
Tefuerar it ifd sia g & Tl 7 vt oft | ... Hifead w9 % fowed

3R 1991 # Sftq g I THId o A &, Teh FAAS AGe IR TR 6
facw fifq 1 g W W ®9 H RUS H IERRAT dAT THIERINT |
gl it AR |
()  9RA A TefTuerar i Hifd 1 F=i T ?
(i) TeTUY 3MgreH s IHfThar § HHT 39 % fohdl < HRUN hl T

i |
(iii) 379 gl o TgHT & foh TS STH, Th ARSI AT & T
2 1+242=5

Read the given passage carefully and answer the following questions :

Non-alignment as a strategy evolved in the Cold War context.
.. with the disintegration of USSR and the end of Cold War in 1991,
non-alignment, both, as an international movement and as the core of
India’s foreign policy, lost some of its earlier relevance and effectiveness.
(1) Why did India adopt non-alignment ?

(i) Explain any two reasons for the loss of its relevance by the
Non-Aligned Movement.

(iii) How far do you agree that the Non-Aligned Movement has become
an international movement ?
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18. = ﬁlz T I T AFYAH T hivg, R Fr=fefgd Jei & W

wﬁa@m&%%muﬁ%%ﬁﬁﬁw%ﬁ@ﬁﬁﬁﬁﬁ

fieft | 979 &7 *w8d 8 T WRG I SAehas YN B, A1 $HhT HIEN-GT Hdas ST

W TE gl b WRA T SAlehdiiieh |99 W T0A BIdT 8 IdT YRd H g9

HETT AT & | WRA o AR B 1 Ueh Jaal 1 B | SAhad il g &l

a1 ot fafSraamen & ug=aHAT TR 3% TR AT | A1 &, T§ R el

fop fafvmaret # stoeh fatiy off 1 @epd € | GEX Weql H e o WRA H Alehad

1 gron fomml 3R Sa-aghaal i sgad ¥ It g8 o |

1) 9 TS © o SR R 2

(ii) Wﬁwmﬁwm?wéawwlwwﬁﬁﬂl

(i) WRA ¥ ARk i fohd TR fomm i Sfeq-ugfaai i sgaar & Sie
TR ? 1+2+2=5

Read the given passage carefully and answer the following questions :

Above all, the linguistic states underlined the acceptance of the principle
of diversity. When we say that India adopted democracy, it does not
simply mean that India embraced a democratic constitution, nor does it
merely mean that India adopted the format of elections. The choice was
larger than that. It was a choice in favour of recognising and accepting
the existence of differences which could at times be oppositional.
Democracy, in other words, was associated with plurality of ideas and
ways of life.

(1) What is meant by ‘linguistic states’ ?

(i) Why were linguistic states formed in India ? Explain any two
reasons.

(iii) How is democracy in India associated with plurality of ideas and
ways of life ?

19. R feu Tu Steamor w1 eyHgds stewE Hifve it ffaRad weAi % 3w
afT
TFEAATE G gt T ¥ Serqdsh WA S e 3R fide
A B d | 3H HTGIed % GHYS YT TSHITdeh W&l i B i % fog
fEger Tyl o SEAATe o 9 H oofldd od O | 39 99d ... UTOH S HLhR A
fRius ToREd THd HS e W IS, AT AdEAETE] HGeH Bh A
T | 91C % HTAl H I8 <N % s I Wl H et T4 |
()  FrEemETieA] 3 fEw % R Hl e = g 2
(i) TE8T % U % FTaNE, THIAdTEl TGl i FhRIcHS R 1

3T HITT |

(i) 39 3TicIe ! Tshd & HIS < U ATST | 1+2+2=5
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Read the given passage carefully and answer the following questions :
The Naxalite Movement has used force to snatch land from the rich
landowners and give it to the poor and the landless. Its supporters
advocated the use of violent means to achieve their political goals. In
spite of the use of preventive detention and other strong measures
adopted by the West Bengal government ...., the Naxalite Movement did
not come to an end. In later years, it spread to many other parts of the
country.

1) Why did the Naxalites prefer to use violence ?

(i1)  Assess the positive role of the Naxalite Movement in spite of using
violence.

(iii)  Suggest any two measures to contain this movement.

20. = fou MU HA w1 emyEs e e dur Fefafed s % W
IS

() I8 A Foh 9 | Tl § 2
(i) 39 A # feu MU foRA @ wefteRl 3 Hafad <@ Wl UgEEA W ST

eIl 6l 8 ?
(iii) TG I TATUT < I, JSE T hl ToHITT H FohE T R @@
22 1+2+2=5
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Study the cartoon given below carefully and answer the following questions :
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1) Which country does the given cartoon refer to ?

(ii)  Identify the two symbols in this cartoon which have given you the
clue about the related country.

(iii) Where does the cartoon place the related country in the
international power politics ?

g :  HEICTRIT J9 T FIRETAT GO & [7g, 397 a6 20 & T WE |

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20.

(20.1) ETETE G gRT IMTed TREN & fpelt T <1 o1 W foafen |

(20.2) o W& TR o % W fafew, St w fawa i swd g8 wiwat
qEd © |

(20.3) HH TWHR g AU rfeaeen H dffash TR W A dF & faw
33T T foheal G1 haHI ol HedATeh i | 1+2+2=5

(20.1) Name any one country of Asia ruled by the Communist Party.

(20.2) Which two Asian countries consider themselves as the emerging
global powers ?

(20.3) Evaluate any two steps taken by the Chinese government to open
its economy to the world.
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21. feu U wraE & UsHifas et |, o s sl @), @), ©, © aur
® s fufea fopan T 8 | A € 78 ST % SAUR W FHh T8 HIfT
3R IWYFeaesrt § Ik TE AW, TR U AT qAT el IeR @iEd

NICAE 5x1=5

68° 72° 76° 80° 84° 88° 92° 96° 100°
T 1 T 1 1 T 1 1 1
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(i) 98 U o 7y Uew § @ I L S TR |

(i) 98 TS - Taaeal o 999Td WA H A9+ foere o1 foig fomam o |
(i) Tad WA H ATETE TR g IMd 98 U9 |

(iv) 1971 8 Y& TR €T & HeT §311 T |

(v) BN I o SR N % &F § Fg I a1a T |
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In the given political outline map of India, five States are marked as
@), ®, ©, O and ®. Identify them on the basis of the information
given below and write their correct names in your answer-book with their
respective serial numbers and the alphabets concerned :

68° 72° 76° 80° 84° 88° 92° 96° 100°
1 T T 1 T T 1 1 1

16°F
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20°

27N J6°

N
“’\) Sy
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16°

80

km100 0 100 300 500km

1 1 1
72° 76° 80° 84° 88° 92° 96°

1)
(ii)
(iii)
(iv)
v)

The State which was carved out of Madhya Pradesh.

The State which opposed its merger with India after independence.
The first State of free India having a Communist government.

The State adjoining Pakistan territory up to 1971.

The State which became agriculturally prosperous due to Green

Revolution.
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e :

el 397 &aet giEaniaa ghemaal & o, Jv7 J&qr 21 & €& |
&/

Note: The following questions are for the Visually Impaired Candidates

22,

59/2

only, in lieu of Question No. 21.

(21.1) TEaar | qd Tg-asg 1 fagra’ fopd Torifae g o e o 2
(21.2) WE IR WEEl & 9W foafge g @aaar & qven uRdS 99§

o =1 feriy feparm o 2
(21.3) I Y AR IS ¥ HE K 99N JH did Th-Ush TS hl W
fetfiae | 1+242=5

(21.1) Which political party advanced the ‘“Two Nation Theory’ before

independence ?

(21.2) Name four Princely States which resisted their merger with the

Indian Union.

(21.3) Name one State each which was carved out of Uttar Pradesh and

Punjab.

iRl geet fohedl i femarsti &1 avfa Hifse I Afvas vofifa & ge @
TH T | 3x2=6

TuaT
Toret 231 <hl 37TITEAT T ATSTRIUT o foheal oI THTET <Rl UM hHITIT | 3x2=6

Describe any three environmental concerns that have become issues of
global politics.

OR

Describe any three effects of globalisation on the economy of a country.

10
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23. T 3R HEHR o ARG H Tod o 9O H ¢l W Arel Thegl b STEnsTi

U HIT | 3x2=6
AAAT

% Tehle! AR HoEl b STES[G A o HATURINT TSHIfdh Gl o ste AL

TEAfd % fohrgl oM forgaTi &l v SHIWT | 3x2=6

Describe any three obstacles that delayed the merger of Jammu and
Kashmir with India.

OR

Describe any three points of consensus that emerged among most
political parties in India in spite of severe competition and conflicts.

24, UIH TS TR & goed & fova W ueifae qurat i favemo i | 6
Y
I T 6 AfT 9T & e 9 o e IaierR fohmal A hrehi
=1 forgermor fifse | 3x2=6

Analyse the political impact of hegemony of the U.S. on the world.
OR

Analyse any three factors responsible for the European Union to be a
highly influential regional organisation.

25. GYH TP G&T GNug § 9RA hl TR 9eEadr o 9§ H hl dF SUYw o

T | 3x2=6
AUAT

T g % AR 6 e A ATl WA 7RE TR 9gel g H e A

NN o WAl ¥ AT & 2 379 3T o 987 H 32807 Sl | 6

Give any three suitable arguements to support India’s candidature for
the permanent membership of the U.N. Security Council.

OR

How are the threats faced by the people in the Third World different from
those faced by the people living in the First World ? Support your answer
with examples.
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26. 1969 § %Y Uil o a9 o gl di9 swron o1 Tose hifve | 3x2=6
FAuat
1980 % HEATATY THTE! o foTu ITert aifefaat 6t samen il | 6

Explain any three causes of the split in the Congress Party in 1969.
OR

Explain the circumstances that led to the mid-term elections in 1980.

27. WH W T 3T g 7@ wan, a1 v fRafa § wwa o fadw il )own

9T g ? 6
areraT

Ife wifaaa g9 o1 foeeq 78 grar o fava fg-gada o war, o o feufa o

Torea gorifa w m gy v 2 6

Suppose there had been no Cold War, how would that situation have
affected India’s foreign policy ?

OR

If the Soviet Union had not disintegrated and the world had remained
bipolar, how would that situation have affected the world politics ?
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